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When the relationship is of a quantitative nature, the appropriate statistical tool for
measuring the relationship and expressing it in a brief formula is known as-

a. Regression b. Covariance

<. Variance d. Correlation

Quola sampling is a special form of - ,

a. Convenience sampling. b. Random sampling,.

¢. Multistage sampling. d. Stratified sampling.

The modern theory of probability is based on the

a. Classical approach b. Both Axiomatic approach & Classical
approach

¢. Empirical approach d. Axiomatic approach

Regression coefficients are independent of change of-

a. Origin but not of scale b. Both origin and scale

¢. Origin d. Scale

The value of coefficient of correlation always lie between-

a. Oand1 b. +1and -1

¢ -1 and 0 d. 1

Which one of the following is caused by careless handling of experimental set up

a. Systemalic error b. Standard error

¢. Typelerror d. Gross error

Goodness of fit of a distribution is tested by

a. Chisquare test b. Z test

¢ Fiest d. Student- ! test

The values obtained from the study of a sample are known as-

a. Stalistic b. Census

¢. Parameter d. Population

Judgement Sampling, is a probability sampling-
a. True b. False
¢. Both aandb d. None of the above

The hypothesis is true but our test rejects it-

a. Type Il error b. Type I error

¢. None of the above d. Both of the above
The Null Flypothesis is denoted by

a. H, b. Ha
c. Ho d. Na

A portion of the area under the probability curve of the sampling distribution of the
lest statistic is called-

a. Critical region b. Degrees of (reedom
¢. Level of significance d. Two tailed test

The conceplt of Inverse probability introduced by-

a. Thomas Bayes b. Jerome Cardan

¢. Blaise Pascal d. A.N.Kolmogorov
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[Descri tive]
Time : 2 Hr. 30 Mins.
[ Answer question no.1 & any four (4) from the rest ]

Two sets of candidates are competing for the positions on the Board
of Directors of a company. The probabilities that the first and
second sets will win are 0.6 and 0.4 respectively. If the first set wins,
the probability of introducing a new product is 0.8, and the
corresponding probability if the second set wins is 0.3. What is the
probability that the product will be introduced.

b) A bag contains 7 black and 9white balls. Two balls are drawn from
this bag one after the other without replacement. What is (he
probability that the two balls are black.

o

(i) Define Rank Correlation.

(i) A test in Mathematics was taken by 7students. The teacher ranked
his pupils according to their academic achievement. The order of
achievement from high to low, together with family income for
each pupil is-

A (Rs.8,500), B(Rs.4200), C(Rs.5700), D(8200),D(Rs.25,000),

E(Rs18,000) and F(Rs 17500)

Calculate  the Spearman’s

achievement and family income

rank  correlation  between  academic

3. From the following data set
i.  Calculate the two regression equations.
il Estimate the value of Y when X is 30
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4. (a) Calculate Karl Pearson’s Coefficient of correlation from the
following data:
X: 9 8 7 =0 5 4 3 2 1
Vi Lo 16 =14 S 5 S TR ORI () 8 9
(b) Distinguish between Correlation and Regression Analysis

Marks : 50

5+5=10

5+5=10

8§+2=10
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